
 

KTM 990, SUPER DUKE 
2006–2012  
Part Nr. 538 

 

 MAIN PLATE  537 R+L 
 

 

M8 x 50 DIN6921 
+ 807 

M8 x 60 DIN6921 
 + 807 

M6 x 12 DIN7991 

818118 

M6 x 25 DIN7380 

+ M6 DIN985 
without joint 

M8 x 20 DIN7991 M8 x 20 DIN7991 

M8 x 25  

DIN7991 

M6 x 35 DIN7380 
+ 123121206 

+ M6 DIN985 
without joint 

 
 

M6 x 35 DIN7991 
+ 2x M6 DIN934 

+ 1x M6 DIN985 

 
 

 M6 x 30 DIN7991 

+ 1x M6 DIN934 
+ 1x M6 DIN985 

 
 

 

 BD11 

+ M6 x 16 DIN7380 
+ M6 DIN985 

 

BRAKE HOSE    45° / 400mm (centr-centr) / 45° 

between 8300 and 854 
123220708 

 8460 

 876 

 8300 

 854 

 813LB 
 813RC 

819M6R  819M6L 

 810R 


